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Question 1 (3 marks)

A(-2,0), B(3,7) and C(5,-2) are three points on the number plane.
(a) Find the distance BC.

(b) Find the midpoint of the line joining 45.

(c) What is the gradient of the line joining AC ?

Question 2 (8 marks)

X(-1,4), Y(5,1) and Z(3,6) are the vertices of a triangle.
Find :

(a) the equation of XY

(b) the equation of the line through Z parallel to X2. XY .
(c) the shortest distance from Z to XY.

(d) the area of AXYZ.

Question 3 (5 marks)

(a) Find the equation of the line passing through the point (1,-2) and
perpendicular to the line 2x -3y +7 = 0.

(b) Find the value of a if the line 2ax +4y — 1 = 0 is perpendicular to
the line 6x+8y+7=0.

Question 4 (6 marks)

A(-1,-2), B(7,2), C(1,4) are the vertices of a triangle.

Show that :

(a) AABC isisosceles.

(b) the perpendicular bisector of AB passes through C.

Marks
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Question 5 (7 marks) Marks

(a) Find x in Figure 1, giving reasons. 2
(Answer to the nearest degree).

Figure 1
(b) Find (stating the rules used) 5
(i) the value of x @
5.5 cm 4.2 cm
(i1) the area of the triangle
in Figure 2.
X cm
Figure 2
Question 6 (4 marks)

From a port P, a lighthouse L is seen 2.4 kmaway on a bearing of 035°. A boat
leaves port and sails due east to a point B, 4.2 km from the lighthouse.

With the aid of a diagram, find the bearing of the boat from the lighthouse.

Question 7 (17 marks)
(a) What is the exact value of : 4
(i) cos150° (i) tan300° (iii) sin 150°. cos330°

(b) Solve (i) 2sinx+ /3 =0 for 0° <x < 360°. 2

(ii) 4sinxcosx—2cosx+4kinx—1 =0 for —180° <x < 180° 3
- 2
(c) (i) Simplify cos?0(1+tan?0) (i) Show that 1—‘4&2@ =1-2sin%0 5
1+tan*0
(d) Ifcosx = —% and tanx > 0, find the exact value of sinx. 3
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